| {VV1P +
value={V_s
dc=8

dcvar=0
noise=0

N\

VAN

D,

o<
=
ocoooZ

valu
dcva
nois

[aX
0=

scP

D

I 1 I
L
R1P
value={R_s}
noisetemp=0
noiseflow=0
dcvar=0 dcvarlot=0

T

{ID}
|

u1ip

OutP

Cc2pP

CMOS18ND

— "

W={W} L={L} ID

fbP

R2
value={R_a
noisetemp=

noiseflow=0
dcvar=0 dcvarlot=0

fbN

U1IN

R3P

value={R_b
noisetemp=
noiseflow=0

- ||
rll{C3 E;

value={C_c
vinit=0

dcvar=0 dcvarlqt=0

R3N

value={R_b
noisetemp=
noiseflow=0

+

C1
value={C d
vinit=0{ -4}

dcvar=0 dcvarlot=0 C2N

OutN

R1N
value={R_s}
noisetemp=0
noiseflow=0
War=0 dcvarlot=0
1 inN

CMOS18ND

L%

W={W} L={L} ID={ID}

SC

|

|

.param R_s=50 R_a=15 R_b=2740 C_d=1n C_c=2n
.source V1P VIN

.detector V_outP V_outN
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